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Answer the following questions: 
 

 :أجت عن الأسئوخ اهتبهيخ
 

 
1.  Choose to answer (A) or (B):  

Write the scientific term that 

express the statement : 

A. The geology branch on which we 

depend to recognize faults, folds, 

ripple marks and other 

structures. 

B. The science that we need to 

study in order to learn about all 

that relates to the earth as 

wealth, history and movements 

 اخزش الاخبثخ عِ )أ( أٗ )ة( : .0 

امزببت اىَلبببلير اىعيَبببٚ اىبببزٛ   

 رذه عيٞٔ اىعجبسح:

فشع اىدٞ٘ى٘خٞب اىزٛ ّعزَذ  - أ

عيٞٔ فٜ اىزعشف عيٚ اىف٘اىق 

ٗاىلٞبد ٗعلاٍبد اىٌْٞ ٗغٞش 

 رىل ٍِ رشامٞت            

اىعيٌ اىزٛ ّسزبج إىٚ دساعزٔ  - ة

ززٚ ّزعشف عيٚ مو ٍب ٝزعيق 

 ثبىنشح الأسضٞخ ٍِ ثشٗاد

   ٗربسٝخ ٗزشمبد

 

................................................................................................................ 

 

 
 

 
2.  Choose to answer (A) or (B):  

Give reason for : 

A. A section in the river in the 

youth stage different from that 

in the rejuvenation stage  

B. Jewelers encourage scientists to 

study the deposits of the Nile 

Delta. 

 اختر الاجبثخ عن )أ( أو )ة( : .2 

 :عون همب يأتي

قلبع اىْٖش فٜ ٍشزيخ  - أ

اىؾجبة ٝخزيف عْٔ فٜ 

 ٍشزيخ اىزلبثٜ .                                                 

ٕ٘شاد ٝؾدع ردبس اىَد - ة

اىعيَبء عيٚ دساعخ سٗاعت 

 دىزب ّٖش اىْٞو

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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3.  Choose to answer (A) or (B):  

What happens: 

A. Repeating of  cultivation of the 

same crop on the same 

agricultural land for several 

years 

B.  Using chemical agricultural 

fertilizers instead of organic ones 

 اختر الاجبثخ عن )أ( أو )ة( : .3 

: 

 - أ

                                                 . 

 - ة

 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 
 

 

 
4.  Choose the correct answer:  

A golden coloured mineral with 

black streak belongs to the ……. 

mineral group. 

native elements 
 

sulphates 
 

sulphides 
 

carbonates 
 

 

 : اهصحيحخاختر الاجبثخ  .4 

ٍعببببذُ ىّ٘ببببٔ رٕجببببٜ ٍٗخذؽببببٔ 

أعبببب٘د ْٝزَببببٚ اىببببٚ ٍدَ٘عببببخ   

ٍعبدُ .....

 
 عْلشٝخ ٍْفشدح

 
 اىنجشٝزبد

 
 اىنجشٝزٞذاد

 
 اىنشثّ٘بد

 

 

 

 
5.  Explain the following  

There is a similarity and a difference 

between mud stone and shale 

 فسر مب يأتي : 
ك رؾبثٔ ٗاخزلاف ثِٞ اىسدش ْٕب

 اىلْٜٞ ٗاىلفو

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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6.  Give one difference between  

Malachite and Sphalerite  

اذكرررررر فرحرررررب وا ررررر ا    .9 

اىَبلامٞبببببببببذ   ثرررررررررين:

 ٗاىغفبىٞشاٝذ

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 
 

 

 
7.  Write a scientific definition for: 

First: The epirogenic movements 

Second: Photo periodism 

اكتررت تيري ررب عوميررب  ررحيحب       .6 

 :همب يأتي

 د اىسشمبد اىجبّٞخ ىيقبساأٗلا:  

اىز٘اقذ اىض٘ئٜثبّٞب:         

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 
 

 

 
8.  Draw a complete label diagram 

illustrating a sector in the earth 

اسعببببٌ ؽببببنلا مبٍببببو     .2 

اىجٞبّبببد ٝ٘ضببر قلبببع 

 فٜ اىنشح الأسضٞخ 
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9.  

Egypt is influenced by the three 

movements of the tectonic plates. 

Explain the sentence clarifying the 

type of motion and an example to it  

رزأثش ٍلش ثبىسشمبد اىثلاثبخ     .8 

ىلأى٘اذ اىزنزّ٘ٞخ اؽشذ اىعجببسح  

ٍ٘ضبببسب ّببب٘ع اىسشمبببخ ٍٗثببببه 

 عيٖٞب

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
10.  Choose to answer (A) or (B):  

What's meant by : 

A. A tectonic plate  

B. A plutonic plate 

 اختر الاجبثخ عن )أ( أو )ة( : .9 

 :ـمب اهمقصود ث

 صىضاه رنزّٜ٘ - أ

 صىضاه ثي٘رّٜ٘    - ة

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
11.  What's the result of The passage of 

wind loaded with the load with 

irregularly shaped gravel in the 

desert 

 01.   ٚ  :ٍبببب اىْزٞدبببخ اىَزشرجبببخ عيببب

ٍببشٗس سٝبببذ ٍسَيببخ ثبىؾببسْخ   

عيببٚ زلبب٘اد غٞببش ٍْز َببخ    

 اىؾنو فٜ اىلسشاء   

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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12.  Explain the following sentence  

The state has an important role in 

solving the problem of population 

overcrowding in the Nile Valle 

فغبببش اىدَيبببخ اٟرٞبببخ ىيذٗىبببخ     .00 

دٗس ٕبً فٜ زو ٍؾنيخ رنذط 

 اىغنبُ فٜ ٗادٛ اىْٞو

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
 

 

 

 
13.  Give  reason for  

The roots of desert plants differ in 

their growth direction 

  عون همب يأتي : .02 

ٝخزيببببببف اردبببببببٓ َّ٘خببببببزٗس  

 بد اىلسشاٗٝخ اىْجبر

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
 

 

 

 
14.  Choose the correct answer:  

Of the fossils characterizing the 

Cenozoic era are each of …. 

The spread of true seed 

plants and Nemolites  
 

the dominance of 

flowering plants and the 

appearance of placental 

mammals 

 

the appearance of green 

algae and the appearance 

of the first reptiles 

 

the emergence of 

pastoral animals and the 

dominance of flowering 

plants 

 

 

 : اهصحيحخاختر الاجبثخ  .03 

ٍبببِ اىسفشٝببببد اىََٞبببضح  

ىسقت اىسٞبح اىسذٝثبخ مبو   

...... ٍِ

 
اّزؾببببببببس ّجبرببببببببد  

ثزسٝببببببببخ زقٞقٞببببببببخ  

 ٗاىَْٞ٘ىٞذ 

 
عبببببببٞبدح اىْجبرببببببببد 

اىضٕشٝببببخ ٗ ٖبببب٘س 

 اىثذٝٞبد اىَؾَٞٞخ

 
 ٖبببببب٘س  سبىببببببت  

خضببببشاء ٗ ٖبببب٘س 

 أٗه اىضٗازف           

 
 ٖببب٘س اىسٞ٘اّببببد  

اىشع٘ٝبببببخ ٗعبببببٞبدح 

  د اىضٕشٝخاىْجبرب

 

 

 

 

a 

b 

c 
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 أ

 ب

 جـ

 د
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15.  Explain how to differentiate between 

white calcite and white quartz without 

using of any tools 

ٗضبببببر مٞبببببف رفبببببش  ثبببببِٞ     .04 

اىنبىغبببٞذ الأثبببٞو ٗاىنببب٘اسرض 

الأثبببببٞو ثبببببذُٗ اعبببببزخذاً أٛ  

 أدٗاد 
 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
16.  Choose to answer (A) or (B):  

Draw a full labeled diagram 

showing  

A. The effect of the charged wind 

on layers of different hardness 

in its different steps 

B.  A section in mature soil, 

mention the characteristics of its 

upper part  

 اختر الاجبثخ عن )أ( أو )ة( : .05 

ارسرررك  رررل  كبمرررن اهجيب ررربد   

 :يوضح

أثش اىشٝبذ اىَسَيخ ثبىؾسْخ  - أ

عيٚ  جقبد ٍخزيفخ 

 اىللاثخ ثخل٘ارٖب اىَخزيفخ

قلبع فٜ رشثخ ّبضدخ ٍع  - ة

رمش خلبئص اىدضء 

 اىعي٘ٛ ٍْٖب

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



" ثبىيغخ الاّديٞضٝخٍبدح " اىدٞ٘ى٘خٞب ٗاىعيً٘ اىجٞئٞخ          6102/:610ه        ىيعبً اىذساعٚ اٍزسبُ ىؾٖبدح إرَبً اىذساعخ اىثبّ٘ٝخ اىعبٍخ        اىذٗس الأٗ   

8  

 

 

 

 
17.  Through the information mentioned, 

identify the rock and then mention 

one importance or use for each of 

the following:  

First: A detritus sedimentary rock 

consisting of sharp edged fragments 

Second: A fine grain or glassy texture 

rock formed at a temperature of about 

1100 ° C 

مررررررررن خرررررررر م اهميوومرررررررربد   .06 

ف عوررا اهصرر ر اهمرروكورح تيررر

 هه:ثك اذكر فبئ ح أو است  امب 

صبببببخش سعببببب٘ثٜ فزببببببرٜ أٗلا: 

 ٍنُ٘ ٍِ فزبد زبد اىضٗاٝب

صبببخش ّغبببٞدٔ دقٞبببق أٗ   ثبّٞبببب:

صخبببببخٜ ٝزنببببُ٘ فببببٜ دسخببببخ    

دسخبببخ  0011زبببشاسح زببب٘اىٜ  

 ٍئ٘ٝخ

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 
 

 

 
18.  The marine planktons occupy two 

trophic levels. Explain the statement  

 

رسزببببببو اىٖبئَبببببببد اىجسشٝببببببخ   .01 

زيقزبببِٞ ٍبببِ اىغيغبببيخ اىجسشٝبببخ   

 اؽشذ اىعجبسح 

 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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19.  Choose to answer (A) or (B):  

Write the scientific term that 

express the statement : 

A. A geological appearance on the 

seashore resulted from the impact 

of the sea water by the moon  

B. Marine deposits at sea shores 

causing the formation of a closed 

or semi-enclosed water section 

 اختر الاجبثخ عن )أ( أو )ة( : .01 

اكتت اهمصطوح اهيوما اهرو  تر م    

 عويه اهيجبرح:

ٍ ٖش خٞ٘ى٘خٜ عيٚ  - أ

ؽب ئ اىجسش رنُ٘ ّزٞدخ 

  رأثش ٍٞبٓ اىجسبس ثبىقَش

سٗاعت ثسشٝخ فٜ ؽ٘ا ئ  - ة

اىجسبس رزغجت فٜ رنِ٘ٝ 

خضء ٍبئٜ ٍغيق أٗ ؽجٔ 

 ٍغيق

 

................................................................................................................ 
 

 
 

 
20.  Choose to answer (A) or (B):  

Give reason for : 

A. The streak plate can be used to 

differentiate between gemstones 

and false jewelry  

B. There is similarity and difference 

between the crystals of 

orthorhombic and the triclinic one 

 اختر الاجبثخ عن )أ( أو )ة( : .09 

 :عون همب يأتي

َٝنِ اعزخذاً ى٘ذ اىَخذػ  - أ

اىخضفٜ فٜ اىزفشٝق ثِٞ 

الأزدبس اىنشَٝخ 

 ٗاىَدٕ٘شاد اىَضٝفخ 

ْٕبك رؾبثٔ ٗاخزلاف ثِٞ  - ة

ثي٘سح اىَعْٜٞ اىقبئٌ ٗثي٘سح 

 ثلاثٜ اىَٞو

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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21.  Choose to answer (A) or (B):  

What are the environmental 

conditions led to: 

A. The flowering of the plant life in 

the carboniferous period in the 

area of Bedaa and Thura 

B. Accumulation of phosphate 

deposits in the area of Abu 

Tartour plateau 

 اختر الاجبثخ عن )أ( أو )ة( : .21 

مب اهظروف اهجيئيرخ اهتري أدد   

 :إها  

اصدٕبس اىسٞبح اىْجبرٞخ فٜ  - أ

اىعلش اىنشثّٜ٘ فٜ 

 ٍْلقخ ثذعخ ٗث٘سا                 

رشامٌ سٗاعت اىف٘عفبد  - ة

فٜ ٍْلقخ ٕضجخ أث٘ 

  ش ٘س

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
 

 
 

 
22.  

Define: The axial plane of the fold. 
 عرف :  .20 

اىَغبببببز٘ٙ اىَسببببب٘سٛ  

 ىيلٞخ
 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
23.  Choose the correct answer:  

Form due to the decaying of forest 

trees leaves that periodically fall …… 

Biogas  
 

Petrified wood  
 

Fossils 
 

Humus 
 

 

 : اهصحيحخاختر الاجبثخ  .22 

أٗسا  ٝزنببببببُ٘ ٍببببببِ رسيببببببو 

الأؽبببدبس اىَزغببببقلخ دٗسٝبببب   

  .....

 
 اىجٞ٘خبص 

 
 أؽدبس ٍزسدشح

 
 اىسفشٝبد

 
 اىذثبه

 

 

 

 

 

a 

b 

c 

d 

 أ

 ب

 جـ

 د
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24.  Overgrazing causes multiple problems. 

Illustrates the methods of  treating 

overgrazing problem  

ٝغبببببببجت اىشعبببببببٜ اىدببببببببئش  .23 

ٗضبببببر  .ٍؾبببببنلاد ٍزعبببببذدح 

  ش  علاج اىشعٜ اىدبئش 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
 

 

 
 

 
25.  Clarify the behavior of the following 

living organisms in the different 

environmental: conditions: 

First: Fennec fox 

Second: Grasshopper 

ٗضر عي٘ك اىنبئْبد اٟرٞبخ   .24 

 :فٜ اى شٗف اىجٞئٞخ اىَخزيفخ 

 ثعيت اىفْلأٗلا: 

 اىدشاد       ثبّٞب:

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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26.  What is the reason of the following 

geological phenomena and the 

following deposits? 

 a) Sodium Carbonate deposits.               

b) Coastal cave.                              

c) Dry delta.                                                 

d) Exfoliation (Spheroidal 

weathering)                  

ٍبببببب اىغبببببجت فبببببٜ رنبببببُ٘    .25 

اى ببببببببب٘إش اىدٞ٘ى٘خٞبببببببببخ  

 :ٗاىشٗاعت اٟرٞخ 

أ ( سٗاعبببت مشثّ٘ببببد 

                                اىلببببببببببببببببببببببببببببببب٘دًٝ٘ 

ة ( ٍغبببببببسح عبببببببزيٞخ              

خبببببببب  ( دىزببببببببب خبفببببببببخ                

 د ( قؾ٘س مشٗٝخ 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
27.  Explain the similarities and differences 

between Mica schist and Gneiss rocks. 

 

ٗضبببببببببر ٗخبببببببببٔ اىؾبببببببببجٔ    .26 

ٗالاخبببببزلاف ثبببببِٞ اىؾٞغبببببذ  

 اىَٞنبئٜ ٗاىْٞظ 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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28.  Choose to answer (A) or (B):  

What meant by  

A. Environmental science.  

B. The environment scientifically. 

 اختر الاجبثخ عن )أ( أو )ة( : .21 

 :مب اهمقصود ثلن من

 عيٌ اىجٞئخ - أ

 اىجٞئخ عيَٞب   - ة

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
29.  Explain the following  

The physical properties of the outer 

core have great importance. 

 فسر مب يأتي : .21 

اىخلببببئص اىفٞضٝبئٞبببخ 

ىيبببببت اىخببببببسخٜ ىٖبببببب  

 إَٔٞخ مجٞشح 
 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
 

 

 
 

 
30.  What is the consequence of?  

The manufacture of cars is powered by 

electricity generated by solar batteries. 

ٍبببب اىْزٞدبببخ اىَزشرجبببخ عيبببٚ :    .29 

صببببببببْبعخ عببببببببٞبساد رغببببببببٞش  

ثبىنٖشثبببببببببء اىَز٘ىببببببببذح ٍببببببببِ   

 اىجلبسٝبد اىؾَغٞخ
 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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31.  God gave the animals that living in the 

depths specific body and physiological 

characteristics. Mention the 

importance of it to them. 

ٕٗبببببت اي اىسٞ٘اّببببببد اىزبببببٜ  .31 

رعببببٞؼ فببببٜ الأعَببببب  قببببذساد  

خغببببَٞخ ٗفغببببٞ٘ى٘خٞخ خبصببببخ 

 ارمش إَٔٞخ رىل ىٖب 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
32.  Write the scientific term for:  A 

mineral that formed from one element 

and has cleavage in one direction. 

ومررررري اكترررررت اهمصرررررطوح اهي .30 

ٍعببذُ ٍنببُ٘ ٍببِ   : عوررا اهرر ام

عْلبببش ٗازبببذ رٗ اّفلببببً فبببٜ  

اردبببببٓ ٗازببببذ ٍبببب٘اصٛ ىقبعببببذح  

 اىجي٘سح

 
 

................................................................................................................ 

 

 
 

 
33.  "Hydrocarbon compounds may found 

in the nature in solid state" – Mention 

its name and its economic importance. 

" رز٘اخببببببببببذ ٍشمجبببببببببببد  .32 

اىٖٞببببذسٗمشثُ٘ فببببٜ صبببب٘سح 

صيجخ " ارمش اعَٖب ٗإَٔٞزٖبب  

 الاقزلبدٝخ 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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34.  Choose to answer (A) or (B):  

A. Alfred Wegner introduced his 

theory at 1922 to explain the 

location of the continents of the 

world:  

 1- Mention the reasons which inspired 

him to introduce this theory. 

2- Wegner had depended on fossils to 

prove his theory. Mention two 

examples of animal fossils he 

depended on. 

B. Oliver, Isaacs and Saycs (had) 

introduced the plate tectonic theory 

at 1968.Mention the assumptions 

of this theory What meant by  

 اختر الاجبثخ عن )أ( أو )ة( : .33 

أ يق اىعبىٌ أىفشٝذ فٞدْش  - أ

 0266ّ شٝزٔ فٜ اىعبً 

اىزٜ رفغش ٗضع قبساد 

 اىعبىٌ                 

a.  ٔارمش الأعجبة اىزٜ دعز

 ىيق٘ه ثٖزٓ اىْ شٝخ 

b.  اعزَذ فٞدْش عيٚ الأزبفٞش

فٜ اثجبد ّ شٝزٔ ارمش 

ٍثبىِٞ ىسفشٝبد زٞ٘اّٞخ 

 اعزَذ عيٖٞب 

c. أٗىٞفش ٗإٝضامظ  رقذً اىعيَبء

ٍٗبٝنظ ثْ شٝخ الأى٘اذ 

ارمش  02:8اىزنزّ٘ٞخ عبً 

 فشٗض ٕزٓ اىْ شٝخ

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
 

 
 

 

 
35.  The penetrating light to the sea water 

affect on its color and distribution of 

the marine creatures. Explain this 

statement.  

ٝببب ثش اىضببب٘ء اىْبفبببز داخبببو   .34 

ٍٞبببٓ اىجسبببس عيببٚ ىببُ٘ اىَٞبببٓ   

ٍٗذٙ اّزؾبس الأزٞبء اىجسشٝخ 

 اؽشذ اىعجبسح     

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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36.  The Gypsum mineral forms due to 

physical and chemical factors. Explain 

this statement. 

ٝزنببببببُ٘ اىدببببببجظ ثع٘اٍببببببو  .35 

. فٞضٝبئٞببخ ٗثع٘اٍببو مَٞٞبئٞببخ   

 اؽشذ ٕزٓ اىعجبسح

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
37.  Choose to answer (A) or (B):  

A. Write the characteristics of the 

Index fossil. 

B. Define the geologic time scale.  

 اختر الاجبثخ عن )أ( أو )ة(  .36 

امزت خلبئص اىسفشٝبخ   - أ

 اىَشؽذح  

 عشف اىغيٌ اىدٞ٘ى٘خٜ     - ة

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
38.  Mention the most important 

characteristics which distinguish 

diamonds from other minerals.  

ارمببببببش إٔببببببٌ اىخلبببببببئص  .72 

اىََٞضح ىَعذُ اىَبط عِ غٞشٓ 

 ٍِ اىَعبدُ

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
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39.  What is the result of? Disappearance 

of the decomposers from an 

ecosystem. 

ٍبببب اىْزٞدبببخ اىَزشرجبببخ عيبببٚ :    .78 

اخزفبء اىنبئْبد اىَسييخ ٍِ ثٞئخ 

 ٍب

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 
 

 
 

 
40.  Explain the general characters of the 

Hexagonal crystal system.. 

ٗضببر اىخلببببئص اىعبٍبببخ   .72 

 اىََٞضح ىجي٘سح فلٞيخ اىغذاعٜ 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 
 

 
41.  Choose the correct answer:  

The Chlorophyll in the plant leaves 

could absorb light rays of wave length 

between……..and……….. 
 

390:870  
 

780:930  
 

390:780 
 

780:870 
 

 

 : اهصحيحخاختر الاجبثخ  .41 

َٝبببزص اىني٘سٗفٞبببو اىَ٘خببب٘د  

فببببٜ أٗسا  اىْجبببببد اىَ٘خبببببد  

اىض٘ئٞخ اىزٜ رزبشاٗذ أ ٘اىٖبب   

ثِٞ ... ٗ .... ّبٍّ٘زش 

 
721 - 821             

 
281 - 271 

 
721 - 281 

 
281 - 821     

 
 

 

 

 

a 

b 

c 

d 

 أ

 ب

 جـ

 د
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42.  

What meant by the natural resource? 
 ؟اىجٞئٜ  ٍب اىَقل٘د ثبىَ٘سد .80 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
 

 

 
43.  Choose to answer (A) or (B):  

A. During your study of the Geology 

syllabus you found the Colorado 

canyon twice. 

Clarify how the Colorado Canyon was 

formed in both cases. 

B. What meant by the following:      

 1- Water table level.                                       

2- The Surface seismic wave 
 

 اختر الاجبثخ عن )أ( أو )ة( : .42 

خبببببببلاه دساعبببببببزل ىَبببببببْٖح    - أ

اىدٞ٘ى٘خٞببببب ٗخببببذد أخببببذٗد  

ميبب٘سادٗ ٍببشرِٞ ٗضببر مٞببف 

رنبببُ٘ أخبببذٗد ميببب٘سادٗ فبببٜ   

 اىسبىزِٞ 

( 0ٍبببب اىَقلببب٘د ثنبببو ٍبببِ :   - ة

ٍْغبببببببببببببببببببب٘ة اىَبببببببببببببببببببببء                                          

 اىَ٘خبد اىغلسٞخ     -6
 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 
 

 
44.  The model in front of you clarifies the 

shape of subsurface igneous rocks, 

study it well then answer: 

اىشعببببٌ اىببببزٛ أٍبٍببببل ٝ٘ضببببر   .87 

أؽبببنبه ىيلبببخ٘س اىْبسٝبببخ رسبببذ 

 علسٞخ ادسعٔ خٞذا ثٌ أخت 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 2 

3 4 
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First: Identify the structure number 1 and 2 and then 

mention what is the type of earth tectonic movement 

that may lead to form them. 

Second: What is the tectonic structure that formed 

under the effect of the structure 3 and structure 4 

ٍٗب  6،  0رعشف عيٚ اىزشمٞت أٗلا: 

اىسشمخ الأسضٞخ اىزنزّ٘ٞخ اىَغججخ 

 ىزنَّٖ٘ب

ٍب اىزشمٞت اىدٞ٘ى٘خٜ اىَزنُ٘ ثبّٞب: 

 8ٗاىزشمٞت  7رسذ رأثٞش اىزشمٞت 

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 
 

 
 

 

 

 
45.  Earthquakes are from horrible and 

tragic events however, the waves that 

released have many benefits- Mention 

them. 

 بببببببببب٘إش اىببببببببببضلاصه ٍببببببببببِ اى .44 

اىدٞ٘ى٘خٞبببببببببخ اىَشٗعبببببببببخ إلا أُ 

اىَ٘خببببد اىزبببٜ رْليبببق عْٖبببب ىٖبببب 

 ارمشٕب  .اىعذٝذ ٍِ اىف٘ائذ

 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

................................................................................................................ 

 

 

 
 

 ،،،مع أطيب التمنيات بالتوفيق
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